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There is a firm selling into a competitive market at a given price p= § 30, and with the cost function
C(x) = 20 450x —3x* + 0.1%

Please use the information above and answer the following questions.

(1) What is the fixed cost? (5%)

(2) If the firm is a profit maximizing firm, what is the optimal quantity of the firm ? (10%)

(3) What is the firm’s short run supply function? (10%)

(4) Draw a picture of the cost function, total revenue function, and profit function. (10%)
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(1) £34 & (Giffen goods) &% ¥4 & (inferior goods)

(2) A& (substitutes) & E#§ & (complements)

(3) 8% %23 (nawral rate of unemployment) A 4% 34 % ¥ % (cyclical unemployment)
(4) BRAEZ L% (GNP) RE M4 & £5 (GDP) .

(5) 1§#M4E (price elasticity of demand) ZF/74F384% (income elasticity)

(6) 3FJrifidhsr (Phillips curve) R dufhdhgh (Laffer curve)

SR B AT R B 3 ol R SR (multiplier effect) B3k 4k F (crowding-out effect)
(10%)

Dip)=100-2p S(p)=3p
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